(a) 
$$(\overline{y}x + 4y)dx + (4x - 8y^{3})dy = 0$$
  
 $M(x,y) = \overline{y}x + 4y \implies \frac{\partial M}{\partial y} = 4 \qquad \underline{x}$   
 $N(x,y) = 4x - 8y^{3} \implies \frac{\partial N}{\partial x} = 4 \qquad \underline{x}$   
Find  $f(x,y)$  such that  $\frac{\partial f}{\partial x} = 5x + 4y ; \quad \frac{\partial f}{\partial y} = 4x - 8y^{3}$   
 $\frac{\partial f}{\partial x} = 5x + 4y \implies f(x,y) = \overline{y}\frac{x^{2}}{2} + 4xy + g(y)$   
 $\implies \frac{\partial f}{\partial y} = 4x + g'(y)$   
 $\implies \frac{\partial f}{\partial y} = 4x - 8y^{3}$   $\implies g(y) = -8y^{3}$   
 $\implies = 4x - 8y^{3}$   $\implies g(y) = -2y^{4}$   
 $\implies f(x,y) = \overline{y}\frac{x^{2}}{2} + 4xy - 2y^{4}$   
 $\implies \delta$  solutions to the ODE :  $\frac{\overline{y}x^{2}}{2} + 4xy - 2y^{4} = C$ 

( $\sin y - y \sin x$ ) dx + ( $\cos x + x \cos y - y$ ) dy = 0

$$M(x,y) = \sin y - y \sin x \Rightarrow \frac{\partial M}{\partial y} = \cos y - \sin x \qquad \checkmark \qquad \underbrace{Exact}_{X,y} = \cos x + x \cos y - y \Rightarrow \frac{\partial N}{\partial x} = -\sin x + \cos y \qquad \checkmark \qquad \underbrace{Exact}_{X,y}$$

Find 
$$f(x,y) = x = \sin y - y = \sin x; \quad \frac{\partial f}{\partial y} = \cos x + x \cos y - y$$
  

$$\frac{\partial f}{\partial x} = \sin y - y = \sin x \Rightarrow \quad f(x,y) = x = \sin y + y \cos x + g(y)$$

$$= > \quad \frac{\partial f}{\partial y} = x \cos y + \cos x + g'(y) = \Rightarrow g'(y) = = y$$

$$= x \cos y + \cos x - y \qquad = > g(y) = -\frac{y^2}{2}$$

$$\Rightarrow \quad f(x,y) = x = \sin y + y \cos x - \frac{y^2}{2}$$

$$\begin{split} & \underbrace{\left( \begin{array}{c} \cos(xy) - xy \sin(xy) \right) dx - x^{2} \sin(xy) dy = 0 \\ M(x,y) \\ & \underbrace{P}_{QY} = -x \sin(xy) - x \sin(xy) - x^{2}y \cos(xy) \\ & = -2x \sin(xy) - x^{2}y \cos(xy) \\ & \underbrace{Exast} \\ & \underbrace{P}_{QX} = -2x \sin(xy) - x^{2}y \cos(xy) \\ & \underbrace{P}_{QX} = -2x \sin(xy) - x^{2}y \cos(xy) \\ & \underbrace{P}_{QX} = -2x \sin(xy) - x^{2}y \cos(xy) \\ & \underbrace{P}_{QX} = -2x \sin(xy) - x^{2}y \cos(xy) \\ & \underbrace{P}_{QX} = -2x \sin(xy) - x^{2}y \cos(xy) \\ & \underbrace{P}_{QX} = -2x \sin(xy) - x^{2}y \cos(xy) \\ & \underbrace{P}_{QX} = -2x \sin(xy) - x^{2}y \cos(xy) \\ & \underbrace{P}_{QX} = \cos(xy) - xy \sin(xy) \\ & \underbrace{P}_{QX} = \cos(xy) - xy \sin(xy) \\ & \underbrace{P}_{QX} = \cos(xy) - xy \sin(xy) + g(x) \\ & \underbrace{P}_{QX} = \cos(xy) - xy \sin(xy) + g'(x) \\ & = \underbrace{P}_{QX} = \cos(xy) - xy \sin(xy) \\ & = \underbrace{P}_{QX} = \cos(xy) - xy \sin(xy) \\ & = \underbrace{P}_{QX} = \frac{2f}{2x} = \cos(xy) - xy \sin(xy) \\ & = \underbrace{P}_{QX} = \frac{2f}{2x} + \frac{2}{2x} \sin(xy) \\ & = \underbrace{P}_{QX} = \frac{2}{2x} \cos(xy) + \frac{2}{2x} \sin(xy) \\ & = \underbrace{P}_{QX} = \frac{2}{2x} \sin(xy) + \frac{2}{2x} \sin(xy) \\ & = \underbrace{P}_{QX} = \frac{2}{2x} \sin(xy) + \frac{2}{2x} \sin(xy) \\ & = \underbrace{P}_{QX} = \frac{2}{2x} \sin(xy) + \frac{2}{2x} \sin(xy) \\ & = \underbrace{P}_{QX} = \frac{2}{2x} \sin(xy) + \frac{2}{2x} \sin(xy) + \frac{2}{2x} \sin(xy) \\ & = \underbrace{P}_{QX} = \frac{2}{2x} \sin(xy) + \frac{2}{2x} \sin(xy) + \frac{2}{2x} \sin(xy) \\ & = \underbrace{P}_{QX} = \frac{2}{2x} \sin(xy) + \frac{2}{2x} \sin(xy) + \frac{2}{2x} \sin(xy) \\ & = \underbrace{P}_{QX} = \frac{2}{2x} \sin(xy) + \frac{2}{2x} \sin(xy) + \frac{2}{2x} \sin(xy) \\ & = \underbrace{P}_{QX} = \frac{2}{2x} \sin(xy) + \frac{2}{2x} \sin(xy) + \frac{2}{2x} \sin(xy) \\ & = \underbrace{P}_{QX} = \frac{2}{2x} \sin(xy) + \frac{2}{2x} \sin(xy) + \frac{2}{2x} \sin(xy) \\ & = \underbrace{P}_{QX} = \frac{2}{2x} \sin(xy) + \frac{2}{2x} \sin(xy) + \frac{2}{2x} \sin(xy) \\ & = \underbrace{P}_{QX} = \frac{2}{2x} \sin(xy) + \frac{2}{2x} \sin(xy) + \frac{2}{2x} \sin(x) \\ & = \underbrace{P}_{QX} = \frac{2}{2x} \sin(x) + \frac{2}{$$

(a) ye<sup>xy</sup>ax + (2y-xe<sup>xy</sup>)ay=0  $M(x,y) = ye^{xy} \Rightarrow \frac{\partial M}{\partial y} = e^{xy} + xye^{xy}$ NOT Exast  $N(x,y) = 2y - xe^{xy} \Rightarrow \frac{\partial N}{\partial x} = -e^{xy} - xye^{xy}$ 

(1+m(xy))dx+xy<sup>-1</sup>dy=0  $M(x,y) = 1 + lm(xy) \implies \frac{\partial M}{\partial y} = \frac{1}{xy} = \frac{1}{y}$ Exact  $N(x,y) = \frac{X}{y} \implies \frac{\partial N}{\partial x} = \frac{1}{y}$ Find potential f(x,y):  $\frac{\partial f}{\partial x} = 1 + lm(xy)$  $\frac{\partial f}{\partial t} = \frac{\lambda}{X} \longrightarrow \Rightarrow f(x, \lambda) = x \ln \lambda + \delta(x)$  $\Rightarrow \frac{\partial f}{\partial x} = \ln y + g'(x) = \ln y + g'(x) = 1 + \ln(xy)$ =  $1 + lm(xy) \int => g'(x) = 1 + lm(xy) - lmy$ = 1+ ln X  $\Rightarrow$  g(x) = X + X luX - X = X lux  $\Rightarrow$  f(x,y) = X lny + X lnx = X ln(xy) => Solutions to ODE: Xln(Xy)=C

$$((2y^{2}x - 3)dx + (2yx^{2} + 4)dy = 0)$$

$$((2y^{2}x - 3)dx + (2yx^{2} + 4)dy = 0)$$

$$((2y^{2}x - 3)dx + (2yx^{2} + 4)dy = 0)$$

$$((2y^{2}x - 3)dx + (2yx^{2} + 4)dy = 0)$$

$$((2y^{2}x - 3)dx + (2yx^{2} + 2)dy = 2y^{2}x^{2} + 4) = 2x^{2}y^{2} - 3x + 3(y)$$

$$((2y^{2}x - 3)dx + (2yx^{2} + 4)dy = 0)$$

$$((2y^{2}x - 3)dx + (2yx^{2} + 4)dy = 0)$$

$$((2y^{2}x - 3)dy + (2yx^{2} - 3)dy + 4)dy = 0)$$

$$((2y^{2}x - 3)dy + (2yx^{2} - 3)dy + 4)dy = 0)$$

$$((2y^{2}x - 3)dy + (2yx^{2} - 3)dy + 4)dy = 0)$$

$$((2y^{2}x - 3)dy + (2yx^{2} - 3)dy + 4)dy = 0)$$

$$((2y^{2}x - 3)dy + (2yx^{2} - 3)dy + 4)dy = 0)$$

$$((2y^{2}x - 3)dy + (2yx^{2} - 3)dy + 4)dy = 0)$$

$$((2y^{2}x - 3)dy + (2yx^{2} - 3)dy + 4)dy = 0)$$

$$((2y^{2}x - 3)dy + (2yx^{2} - 3)dy + 4)dy = 0)$$

$$((2y^{2}x - 3)dy + (2yx^{2} - 3)dy = 0)$$

$$((2y^{2}x - 3)dy - 3)dy = 3dy^{2} = 0)$$

$$((2y^{2}x - 3)dy - 3dy^{2} = 0)$$

$$((2y^{2}y - 3dy) - 3dy - 3dy^{2} = 0)$$

$$((2y^{2}y - 3dy) - 3dy - 3dy^{2} = 0)$$

$$((2y^{2}y - 3dy) - 3dy - 3dy^{2} = 0)$$

$$((2y^{2}y - 3dy) - 3dy -$$

$$()) (y - e^{-xy}) dx + (\frac{1}{y} + x - by) dy = 0$$

$$()) \frac{\partial M}{\partial y} = Jmy + 1 + x e^{-xy}$$

$$()) \frac{\partial N}{\partial x} = Jmy$$

$$()) \frac{2x}{y} dx - \frac{x^2}{y^2} dy = 0$$

$$()) \frac{\partial M}{\partial y} = -\frac{2x}{y^2} \Rightarrow \frac{\partial N}{\partial x} = -\frac{2x}{y^2} \Rightarrow \frac{\sum x act}{y^2}$$

$$()) \frac{\partial f}{\partial x} = \frac{2x}{y} \Rightarrow f(x,y) = \frac{1}{y} x^2 + g(y)$$

$$= -\frac{x^2}{y^2}$$

$$()) = y(y) = 0 \Rightarrow g(y) = 0$$

$$f(x,y) = \frac{1}{y} x^2$$

$$()) = y(y) = 0 \Rightarrow g(y) = 0$$

$$()) = -\frac{x^2}{y^2}$$

$$()) = -\frac{x^2}{y^2}$$

$$()) = -\frac{x^2}{y^2}$$

$$()) = -\frac{x^2}{y^2}$$

$$()) = -\frac{1}{y} x^2$$

Remark : (#11) is also separable :

$$\frac{2x}{y}ax = \frac{x^2}{y^2}ay \implies \frac{2}{x}dx = \frac{1}{y}dy \implies 2\ln|x|+c = \ln|y|$$
$$\implies y = \pm e^c x^2 \implies y = cx^2 (c \neq c)$$

$$\begin{split} & \underbrace{(\mathbb{P})}{(\mathbb{P})} \left(\frac{1}{X} - \frac{y}{X^{2} + y^{2}}\right) dX + \frac{x}{X^{2} + y^{2}} dy = 0 \\ & \frac{\partial M}{\partial y} = -\frac{(X^{2} + y^{2}) - 2y^{2}}{(X^{2} + y^{2})^{2}} = -\frac{X^{2} - y^{2}}{(X^{2} + y^{2})^{2}} \\ & \frac{\partial M}{\partial X} = \frac{(X^{2} + y^{2}) - 2X^{2}}{(X^{2} + y^{2})^{2}} = \frac{y^{2} - X^{2}}{(X^{2} + y^{2})^{2}} \\ & \frac{\partial P}{\partial X} = \frac{1}{X} - \frac{y}{X^{2} + y^{2}} \\ & = \frac{\partial P}{\partial X} = \frac{1}{X} - \frac{y}{X^{2} + y^{2}} \\ & = \frac{\partial P}{\partial y} = \frac{x}{X^{2} + y^{2}} \\ & = \frac{1}{Y^{2} + y^{2}} \\ & = \frac{1}{Y^{2} + y^{2}} \\ & = \frac{1}{X} - \frac{y}{X^{2} + y^{2}} \\ & = y^{2}(X) = \frac{1}{X} \\ & = \frac{1}{X} - \frac{y}{X^{2} + y^{2}} \\ & = y^{2}(X) = \frac{1}{X} \\ & = \frac{1}{X} - \frac{y}{X^{2} + y^{2}} \\ & = y^{2}(X) = \frac{1}{X} \\ & = \frac{1}{X} - \frac{y}{X^{2} + y^{2}} \\ & = y^{2}(X) = -\frac{1}{X} \\ & = \frac{1}{X} - \frac{y}{X^{2} + y^{2}} \\ & = y^{2}(X) = -\frac{1}{X} \\ & = \frac{1}{X} - \frac{y}{X^{2} + y^{2}} \\ & = y^{2}(X) = -\frac{1}{X} \\ & = \frac{1}{X} - \frac{y}{X^{2} + y^{2}} \\ & = y^{2}(X) = -\frac{1}{X} \\ & = \frac{1}{X} - \frac{y}{X^{2} + y^{2}} \\ & = y^{2}(X) = -\frac{1}{X} \\ & = \frac{1}{X} - \frac{y}{X^{2} + y^{2}} \\ & = \frac{1}{X} - \frac{1}{X} + \frac{y}{X^{2} + y^{2}} \\ & = \frac{1}{X} - \frac{1}{X} + \frac{y}{X^{2} +$$

$$\frac{\partial f}{\partial x} = \frac{1}{x} - \frac{y}{x^{2}+y^{2}} \implies f(x,y) = \ln |x| - \arctan (x/y) + g(y)$$
  
$$\implies \frac{\partial f}{\partial y} = -\frac{1}{1+\frac{x^{2}}{y^{2}}} \cdot \frac{-x}{y^{2}} + g'(y)$$
  
$$= +\frac{x}{\frac{x^{2}+y^{2}}{x^{2}+y^{2}}} + g'(y)$$
  
$$= -\frac{x}{\frac{x^{2}+y^{2}}{x^{2}+y^{2}}}$$
  
$$\implies f(x,y) = \ln |x| - \arctan (x/y) \implies \ln |x| - \arctan (x/y) = C$$

We obtained two apparently different rolutions:

lux1+	$\arctan(\frac{y}{x}) = c$	(1)
en  x  -	arctan (X/y) = C	(2)

We can check by implicit differentiation that both satisfy the DE

$$(1) = \frac{1}{X} + \frac{1}{1 + (\frac{y}{X})^{2}} \left( \frac{\frac{y'}{X}}{X} - \frac{y}{X^{2}} \right) = 0$$

$$= \frac{1}{X} + \frac{\frac{x^{2}}{X^{2} + y^{2}}}{\frac{x^{2}}{X^{2} + y^{2}}} = 0 = \frac{1}{X} \left( \frac{1}{X} - \frac{y}{\frac{x^{2} + y^{2}}{X^{2} + y^{2}}} \right) + \frac{x}{\frac{x^{2}}{\chi^{2} + y^{2}}} \frac{y' = 0}{\frac{1}{X} - \frac{1}{1 + \frac{x}{\chi^{2}}}} \left( \frac{1}{y} - \frac{x}{\frac{y^{2}}{y^{2}}} \frac{y'}{y'} \right) = 0$$

$$= \frac{1}{X} - \frac{\frac{y^{2}}{\chi^{2} + y^{2}}}{\frac{y^{2}}{\chi^{2} + y^{2}}} = 0 = \frac{1}{\chi^{2}} \left( \frac{1}{X} - \frac{y}{\frac{x^{2}}{\chi^{2} + y^{2}}} \right) + \frac{x}{\frac{x^{2}}{\chi^{2} + y^{2}}} \frac{y' = 0}{\frac{y'^{2}}{\chi^{2} + y^{2}}} = 0 = \frac{1}{\chi^{2}} \left( \frac{1}{\chi} - \frac{y}{\frac{x^{2}}{\chi^{2} + y^{2}}} \right) + \frac{x}{\frac{x^{2}}{\chi^{2} + y^{2}}} \frac{y' = 0}{\frac{y'^{2}}{\chi^{2} + y^{2}}} = 0 = \frac{1}{\chi^{2}} \left( \frac{1}{\chi} - \frac{y}{\frac{x^{2}}{\chi^{2} + y^{2}}} \right) + \frac{x}{\frac{x^{2}}{\chi^{2} + y^{2}}} \frac{y' = 0}{\frac{y'^{2}}{\chi^{2} + y^{2}}} = 0 = \frac{1}{\chi^{2}} \left( \frac{1}{\chi} - \frac{y}{\frac{x^{2}}{\chi^{2} + y^{2}}} \right) + \frac{x}{\frac{x^{2}}{\chi^{2} + y^{2}}} \frac{y' = 0}{\frac{y'^{2}}{\chi^{2} + y^{2}}} = 0 = \frac{1}{\chi^{2}} \left( \frac{1}{\chi} - \frac{y}{\frac{x^{2}}{\chi^{2} + y^{2}}} \right) + \frac{x}{\frac{x^{2}}{\chi^{2} + y^{2}}} \frac{y' = 0}{\frac{y'^{2}}{\chi^{2} + y^{2}}} = 0$$

The two polutions are equivalent, because

So  

$$(1): \ln|X| + \arctan(\frac{y}{x}) = C \quad (=> \ln|X| \pm \frac{\pi}{2} - \arctan(\frac{x}{y}) = C \quad (2)$$

$$(anctan(\frac{1}{x}) = \pm \frac{\pi}{2} - \arctan(\frac{x}{y}) = C$$

$$(=> \ln|X| - \arctan(\frac{x}{y}) = C \quad (2)$$

$$\operatorname{acctan}\left(\frac{1}{\kappa}\right) = \begin{cases} -\frac{\pi}{2} - \operatorname{acctan}(\kappa), & \text{if } \kappa < 0 \\ \overline{\pi} - \operatorname{acctan}(\kappa), & \text{if } \kappa > 0 \end{cases}$$

$$\operatorname{Recall source barne facts from Tugonowery:$$

$$\operatorname{acctan} : \mathbb{R} \rightarrow (-\pi)_{2}, \pi/_{2} \qquad \operatorname{acccot} : \mathbb{R} \rightarrow (0, \pi)$$

$$\operatorname{acctan} : \mathbb{R} \rightarrow (-\pi)_{2}, \pi/_{2} \qquad \operatorname{acccot} : \mathbb{R} \rightarrow (0, \pi)$$

$$\operatorname{acctan}(\kappa) + \operatorname{acccot}(\kappa) = \frac{\pi}{2}$$

$$\operatorname{Suppose}\left[\operatorname{acctan} \frac{1}{\kappa} = \beta\right] \qquad \Rightarrow \beta \in (-\pi)_{2}, \pi/_{2} ) \qquad \Rightarrow \beta \in (-\pi)_{2}, \pi/_{2} )$$

$$\Rightarrow \beta \in (-\pi)_{2}, \pi/_{2} ) \qquad \Rightarrow \beta \in (-\pi)_{2}, \pi/_{2} )$$

$$\Rightarrow \beta \in (-\pi)_{2}, \pi/_{2} ) \qquad \Rightarrow \beta \in (-\pi)_{2}, \pi/_{2} )$$

$$\Rightarrow \beta = \operatorname{acctan}(\kappa) = \operatorname{acccot}(\operatorname{cot} \beta)$$

$$\operatorname{acccot}(\kappa) = \beta = \beta$$

$$\operatorname{if}(\kappa < 0) \Rightarrow \beta \in (0, \pi/_{2}) \Rightarrow \alpha \operatorname{accot}(\kappa) = \beta = \beta$$

$$\operatorname{if}(\kappa < 0) \Rightarrow \beta \in (-\pi)_{2}, \eta \Rightarrow \alpha \operatorname{accot}(\kappa) = \beta = \beta$$

$$\operatorname{if}(\kappa < 0) \Rightarrow \beta \in (-\pi)_{2}, \eta \Rightarrow \alpha \operatorname{accot}(\kappa) = \beta = \beta$$

$$\operatorname{acccot}(\kappa) = \beta = \beta$$

$$\operatorname{if}(\kappa < 0) \Rightarrow \beta = \alpha \operatorname{accan}(\frac{1}{\kappa}) = \begin{cases} \alpha \operatorname{acccot}(\kappa) = \beta = \beta = \beta \\ \alpha \operatorname{acccot}(\kappa) = \beta = \beta = \beta \end{cases}$$

$$\operatorname{if}(\kappa < 0) \Rightarrow \beta = \alpha \operatorname{accan}(\frac{1}{\kappa}) = \begin{cases} \alpha \operatorname{acccot}(\kappa) = \beta = \beta \\ \alpha \operatorname{acccot}(\kappa) = \beta = \beta = \beta \end{cases}$$

$$(i) \quad (x+y)^{2} dx + (2xy+x^{2}-i) dy = 0 \quad ; \quad y(i) = 1$$

$$\frac{\partial M}{\partial y} = 2(x+y) \quad \qquad \underbrace{Exact}$$

$$\frac{\partial N}{\partial x} = 2y+2x = 2(x+y) \quad \qquad \underbrace{Exact}$$

$$\frac{\partial N}{\partial x} = 2y+2x = 2(x+y) \quad \qquad \underbrace{Exact}$$

$$\frac{\partial P}{\partial y} = (x+y)^{2} + g'(y)$$

$$= 2xy+x^{2} - 1 = (x+y)^{2} - (1+y^{2}) \quad \qquad \underbrace{exy} + x^{2} - 1 = (x+y)^{2} - (1+y^{2}) \quad \underbrace{exy} + x^{2} - 1 = (x+y)^{2} - ($$

$$(e^{x} + y)dx + (2 + x + ye^{y})dy = 0 \quad ; y(0) = 1$$

$$\frac{\partial M}{\partial y} = 1 \quad ; \quad \frac{\partial N}{\partial x} = 1 \quad \underline{f}(x, y) = e^{x} + xy + g(y)$$

$$\Rightarrow \frac{\partial f}{\partial y} = x + g'(y)$$

$$\Rightarrow \frac{\partial f}{\partial y} = x + g'(y)$$

$$\Rightarrow g(y) = 2y + ye^{y} - e^{y}$$

$$f(x, y) = e^{x} + xy + 2y + ye^{y} - e^{y}$$

$$\Rightarrow e^{x} + xy + 2y + ye^{y} - e^{y}$$

$$\Rightarrow e^{x} + xy + 2y + ye^{y} - e^{y}$$

$$\Rightarrow e^{x} + xy + 2y + ye^{y} - e^{y} = 3$$

$$\begin{split} & \underbrace{(y^{2}\cos x - 3x^{2}y - 2x)dx + (2y\sin x - x^{3} + \ln y)dy = 0}_{y} y(0) = e \\ & \frac{\partial M}{\partial y} = 2y\cos x - 3x^{2} , \quad \frac{\partial N}{\partial x} = 2y\cos x - 3x^{2} \quad \underbrace{Exact}_{xact}_{xact}_{y} \\ & \frac{\partial f}{\partial x} = y^{2}\cos x - 3x^{2}y - 2x \Rightarrow f(x,y) = y^{2}\sin x - x^{3}y - x^{2} + g(y) \\ & = > \frac{\partial f}{\partial y} = 2y\sin x - x^{3} + g'(y) \\ & = 2y\sin x - x^{3} + \ln y \\ & = 2y\sin x - x^{3} + \ln y \\ & = > g'(y) = \ln y \Rightarrow g(y) = y\ln y - y \\ & f(x,y) = y^{2}\sin x - x^{3}y - x^{2} + y\ln y - y \\ & f(x,y) = y^{2}\sin x - x^{3}y - x^{2} + y\ln y - y \\ & = > e - e = c \Rightarrow e - e \\ & = > \underbrace{y^{2}\sin x - x^{3}y - x^{2} + y\ln y - y = 0}_{x = 0, y = e} \end{split}$$

$$\underbrace{\bigoplus}_{X,y} \left( \frac{1}{1+y^2} + \cos x - 2xy \right) \frac{dy}{dx} = y(y + \sin x) \quad ; \quad y(0) = 1$$

$$y(y + \sin x) dx - \left( \frac{1}{1+y^2} + \cos x - 2xy \right) dy = 0$$

$$\underbrace{\max}_{X,y} = y(y + \sin x) = y^2 + y \sin x \Rightarrow \quad \frac{\partial M}{\partial y} = 2y + \sin x \qquad ; \qquad \underbrace{exact}_{X,y} = \frac{2}{\sqrt{1+y^2}} + \cos x - 2xy \qquad ; \qquad \Rightarrow \quad \frac{\partial M}{\partial x} = \sin x + 2y \qquad ; \qquad \underbrace{exact}_{X,y} = \frac{2}{\sqrt{1+y^2}} + \frac{2}{\sqrt{1+y^2}} + \cos x - 2xy \qquad ; \qquad \Rightarrow \quad \frac{\partial M}{\partial x} = \sin x + 2y \qquad ; \qquad \underbrace{exact}_{X,y} = \frac{2}{\sqrt{1+y^2}} = 2xy - \cos x + g(y) = 2xy - \cos x + g'(y) = 2xy - \cos x + g'(y) = 2xy - \cos x - \frac{1}{1+y^2} \qquad ; \qquad \Rightarrow \quad g(y) = -\operatorname{antan}(y) = 2xy - \cos x - \frac{1}{1+y^2} \qquad ; \qquad \Rightarrow \quad g(y) = -\operatorname{antan}(y) = 0$$

$$= f(x,y) = xy - y\cos x - \arctan(y) = C$$

$$X = 0, y = 1 = -1 - \frac{\pi}{4} = C$$

$$Xy^{2} - y\cos x - \arctan(y) = -1 - \frac{\pi}{4}$$

$$( \begin{array}{c} \textcircled{ff} \\ (y^{3} + Kxy^{4} - 2x) dx + (3xy^{2} + 20x^{2}y^{3}) dy = 0 \\ M(x,y) = y^{3} + Kxy^{4} - 2x = 3 \begin{array}{c} \xrightarrow{\partial M}{\partial y} = 3y^{2} + 4kxy^{3} \\ \overrightarrow{\partial y} = 3y^{2} + 20x^{2}y^{3} = 3y^{2} + 40xy^{3} \end{array} \right) = 34k = 40 = 3k = 10 \\ N(x,y) = 3xy^{2} + 20x^{2}y^{3} = 3y^{2} + 40xy^{3} \end{array} \right) = 3kx^{2} + 40xy^{3} \end{array}$$

$$= 3ky^{2} + 20x^{2}y^{4} - x^{2} + g(y) \\ = 3ky^{2} + 20x^{2}y^{3} + g'(y) \\ = 3ky^{2} + 20x^{2}y^{3} + g'(y) \\ = 3ky^{2} + 20x^{2}y^{3} + g'(y) \\ = 3ky^{2} + 20x^{2}y^{3} = g(y) = 0 \\ = 3ky^{2} + 20x^{2}y^{3} = g$$

$$(18) (2x - y \operatorname{shn}(xy) + ky^{4}) dx - (20 xy^{3} + x \operatorname{shn}(xy)) dy = 0$$

$$\frac{\partial M}{\partial y} = - \operatorname{shn}(xy) - xy \cos(xy) + 4ky^{3} = > 4k = -20 => k = -\overline{P}$$

$$\frac{\partial N}{\partial x} = -20y^{3} - \operatorname{shn}(xy) - xy \cos(xy)$$

$$Solve: \frac{\partial P}{\partial x} = 2x - y \operatorname{shn}(xy) - \overline{P}y^{4} \Rightarrow f(x,y) = \chi^{2} + \cos(xy) - \overline{P}y^{4} \chi + g(y)$$

$$=> \frac{\partial P}{\partial y} = -x \operatorname{shn}(xy) - 20y^{3} \chi + g'(y) = g'(y) = -\chi \operatorname{shn}(xy) - 20y^{3} \chi + g'(y) = g'(y) = -\chi \operatorname{shn}(xy) - 20y^{3} \chi + g'(y) = g'(y) = -\chi \operatorname{shn}(xy) - 20y^{3} \chi + g'(y) = g'(y) = -\chi \operatorname{shn}(xy) - 20y^{3} \chi + g'(y) = -\chi \operatorname{shn}(xy) - 20y^{3} \chi =$$

$$(P) (2xy^{2}+ye^{x}) dx + (2x^{2}y+ke^{x}-1) dy = 0$$

$$\frac{\partial M}{\partial y} = 4xy + e^{x} \qquad \Rightarrow k=1$$

$$\frac{\partial N}{\partial x} = 4xy + ke^{x} \qquad \Rightarrow k=1$$

$$\frac{\partial P}{\partial x} = 2xy^{2} + ye^{x} \Rightarrow f(x,y) = x^{2}y^{2} + ye^{x} + g(y)$$

$$= \sum_{x \neq y} \frac{\partial P}{\partial y} = 2x^{2}y + e^{x} + g'(y) \qquad \Rightarrow g'(y) = -1$$

$$= 2x^{2}y + e^{x} - 1 \qquad \Rightarrow g(y) = -y$$

$$(20) (6Xy^{3} + \cos y) dx + (K X^{2}y^{2} - X = 5 my) dy = 0$$

$$\frac{\partial M}{\partial y} = 18Xy^{2} - 5my$$

$$\frac{\partial N}{\partial X} = 2K Xy^{2} - 5my$$

$$= 18 = 2K = 5K = 9$$

$$\frac{\partial M}{\partial X} = 2K Xy^{2} - 5my$$

$$= 9X^{2}y^{3} + x \cos y + g(y)$$

$$= 9X^{2}y^{2} - x = 5my$$

. 1

(a) 
$$M(x,y) dx + (xe^{xy} + 2xy + \frac{1}{x}) dy = 0$$
  

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x} \Rightarrow \frac{\partial M}{\partial y} = e^{xy} + xye^{xy} + 2y - \frac{1}{x^2}$$
  

$$\Rightarrow \frac{\partial M}{\partial y} = e^{xy}(1+xy) + 2y - \frac{1}{x^2}$$
  

$$\Rightarrow M(x,y) = \frac{1}{y}e^{xy} + \frac{y^2}{y^2} - \frac{y}{x^2} + g(x)$$
  

$$\int e^{xy}(1+xy) dy = \frac{1}{x}\int (1+xy)(e^{xy})' dy$$
  

$$= \frac{1}{x}(1+xy)e^{xy} - \frac{1}{x}\int xe^{xy} dy$$
  

$$= (\frac{1}{x} + y)e^{xy} - \frac{1}{x}e^{xy}$$
  

$$= ye^{xy}$$

> this can be any function of y

$$\begin{array}{l} \overbrace{(x,y)}^{M_1(x,y)} & \overbrace{(x+y+1)ax}^{N_1(x,y)} & \overbrace{(x+y+1)ax}^{N_1(x,y)} & \overbrace{(x+y+1)ax}^{N_1(x,y)} & = 0 \\ (*) & ye^x(x+y+1)ax + (xe^x+2ye^x)dy = 0 \\ & \frac{\partial M}{\partial y} = e^x(x+2y+1) & \overbrace{(x+2y+1)}^{Z} & \overbrace{(x+$$

$$\frac{Solve(x)}{\partial x} = Xye^{x} + y^{2}e^{x} + ye^{x}$$

$$\frac{\partial f}{\partial y} = Xe^{x} + 2ye^{x} \implies f(x,y) = Xye^{x} + y^{2}e^{x} + g(x)$$

$$\implies \frac{\partial f}{\partial x} = ye^{x} + xye^{x} + y^{2}e^{x} + g'(x) \implies g'(x) = 0$$

$$\implies Solution : \qquad Xye^{x} + y^{2}e^{x} = C$$